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ANTHROPOLOGY
Paper - 111

All questions are compulsory.

The projects that describes the
profiles of almost all communities in
India is known by the name :

(A) Populations of India

(B) People of India

(C) Communities of India

(D) Societies of India

The term “Thick description” was
coined by :

(A) Clifford Geertz

(B) Mary Douglas

(C) Peter Worsley

(D) James Clifford

As per the 2001 census, which among
the following states showed highest
percentage of Scheduled Tribe
population ?
(A) Meghalaya
(C) Tripura

(B) Assam
(D) Mizoram

The function of religion has been :

(A) Harmonizing

(B) Unifying

(C) Instituting confidence in crisis
situations

(D) All of the above

Among the following who is known
as the father of field work in
Anthropology ?

(A) Durkheim

(B) Redcliffe Brown

(C) Malinowski

(D) Franz Boas

The “World Congress of
Anthropological and  Ethnological
Sciences” was held in India in the year :
(A) 1978 (B) 1982

(C) 1991 (D) 1998

Paper-I11

10.

11.

12.

13.

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

The mode of inheritance of

mitochondrial DNA is :

(A) Maternally transmitted

(B) Paternally transmitted

(C) Maternally and
transmitted

(D) None of the above

Who among the following gave a
measure for coefficient of inbreeding ?
(A) J.B.S. Haldane

(B) Curt stern

(C) Sewall Wright

(D) Eugene Fischer

‘Human Genome Project’ is a/an :

(A) An international collaborative
reserved programme

(B) National collaborative research

Paternally

programme

(C) Regional collaborative research
programme

(D) European collaborative research
programme

‘DNA  Finger  printing’ was

discovered by :
(A) AleclJefferys (B) Tzio & Levin
(C) Watson & Crick(D) Kary Mullis

‘One gene one enzyme’ concept was
propounded by :

(A) A.E. Garrod

(B) Sewall Wright

(C) Harry Harris

(D) Beadle and Tatum

Adaptive radiation is an example of :
(A) Convergent evolution

(B) Divergent evolution

(C) Parallel evolution

(D) Co-evolution

Some of the iron age sites of India
has the evidence of megalithic
structure. Iron age site with
megalithic structure is found at :

(A) Utnur (B) Brahmagiri
(C) Hallur (D) Ahichchatra
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15.

16.

17.

18.

Indus people had a knowledge of
metallurgy. It is proved by the
presence of :

(A) seals of stealite

(B) copper tools

(C) conch shell bangle

(D) terracotta vessels

Several Neolithic chalcolithic
evidences are found in India. Which
of the following sites represents
central India ?

(A) Rana Ghundai (B)
(C) Navdatoli D)

Which of the following are the more
common models in Anthropology as
per Pretti J. Pelto ?

(i) Community studies model

(ii)) Two case comparison model
(ii1) Cross cultural (statistical) model
(iv) Regional variation model
Codes :

(A) (1), (i1) and (iii) are correct.

(B) (i1) and (iv) are correct.

(C) (), (i11) and (iv) are correct.

(D) All are correct.

Ahar
Sangana Kallu

Which of the following are included
in patron-client relationship as per
M.N. Srinivas ?

(i) Jajman - Kamin

(i1) Master - Servant

(iii) Landowner - Tenant

(iv) Creditor - Debtor

Codes :

(A) (1), (i1), (111) and (iv) are correct.
(B) (i1) and (iii) are correct.

(C) () and (iv) are correct.

(D) (), (i1) and (iii) are correct.

Which of the following government

agencies are concerned for tribal

welfare and development ?

(i) Integrarted Tribal Development
Agency

(i)  Girijan Cooperative Corporation

(iii) Tribal Welfare Department

(iv) Ministry of Tribal Affairs

Codes :

(A) (1) and (iv) are correct

(B) (i1) and (iii) are correct

(C) All are correct

(D) (1) and (i1) are correct
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20.

21.

Which of the following are the major
constraints  for  development of
Scheduled Tribes in India ?

(1) Poverty and food insecurity
(i) Iliteracy and Ignorance
(iii)) Exploitation and land alienation

(iv) Exclusion due to geographical
isolation and segregation

Codes :

(A) (1), (i1) and (iii) are correct.

(B) (), (i1), (iii) and (iv) are correct.
(C) (i) and (iv) are correct.

(D) (i1) and (iv) are correct.

Which of the following are the correct
type of sampling procedures ?

(i) Random sampling

(i)  Purposive sampling

(1i1) Stratified sampling

(iv) Self selected sampling
Codes :

(A) (1), (i1) and (iii) are correct.
(B) (i1) and (iv) are correct.
(C©) () and (iv) are correct.

(D) All are correct.

Match an item List-I with an item in
List-II. Use the codes given below :

List -1 List - 11

a. Structuralism i. A.L. Kroeber
b. Functionalism ii. Levi strauss
c. Diffusionism iii. B. Malinowski
d. Super organic iv. Franz Boas

theory of

culture
Codes :

(A) i v il i
B) iii i i iv
©) i i iv i
D) iv i i il
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22,

23.

24.

25.

26.

Read the following and choose the
correct answer from the options given
below :

By growth is meant

(1) Increase in size

(i1)) Increase in volume

(ii1)) Increase in shape

(iv) Increase in weight

Codes :
(A) v, i, iii B) i,ii,iv
©) 1,1i,1ii (D) i, iii, iv

With the parential combination of
MN Xx MN blood groups, the
offsprings will be produced in the
proportion of :

(A) 50% MN, 25% M, 25% N

(B) 25% MN, 50% M, 25% N

(C) 40% MN, 20% M, 40% N

(D) 30% MN, 30% M, 40% N

A man with type A blood group
marries with type AB blood group.
What are the different blood group
types of their offspring could have ?
(A) Aonly (B) AB only
(C) Aand AB (D) A,Band AB

Increase in human height is referred
toas:

(A) Areal growth

(B) Linear growth

(C) Transverse growth

(D) None of the above

Read the following and choose the
correct answer from the options given
below :

Factors which tend to change gene
frequencies are :

(i) Mutation

(i) High altitude

(iii) Natural selection

(iv) Random mating

Codes :
(A) i, iil, iv B) i,ii,iii
(C) i,iii D) 1i,ii,iv
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28.

29.

30.

31.

Read the following and choose the
correct answer from the options given
below :

What is true of the dermatoglyphics ?
(i)  Used in personal identifications.
(i) Itis a clinical tool.

(ii1) It is a monogenic trait.

(iv) It is wused for twin zygosity
determination.

Codes :

(A) i, 1i, iii (B) ii, iii, iv

©) 1i,ii,iv (D) i, iii, iv

Environmental archaeology deals

with the issues related to :
(A) Fauna and flora
(B) Palaeo temperature
(C) Formation of strata
(D) All of the above

involves  the
archaeological

New archaeology

understanding  of

evidences to construct :

(A) Relation between biology and
culture

(B) Analysis of the environment of
early man

(C) Life ways of the community of
the settlement

(D) Statistical analysis of the
antiquities of early man

Earliest evidence of living floor of the
early man of western Europe is found
in the site namely :

(A) Terra— Amata (B) Lajaret

(C) Swanscomble (D) Torralba

Given below are two statements, one is

labeled as Assertion (A) and the other

is labeled as Reason (R).

Assertion (A) : Peasantry is part
society and part culture.

Reason (R) : Peasantry is the whole
part of the society and culture.

In the context of about two statements

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) (A) is true and (R) is not the
correct explanation of (A).

(C©) (A)is true, but (R) is incorrect.

(D) (A) is false, but (R) is true.
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frefafaa = d9fed ok T g3 mw
forehedl | Hel ST ol BT BT :

e (Fghg) &1 7
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(i) 3TEaA a1 ategd § gfE
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ST OAl-ar § MN x MN 36 998 6
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3T o | ST o

(A) 50% MN, 25% M, 25% N

(B) 25% MN, 50% M, 25%N

(C) 40% MN, 20% M, 40% N

(D) 30% MN, 30% M, 40% N
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3Td foaTe Har & e Yo 99e <
AB &1 & | 3% F=al & & GHE o
USRI o & ek § 2
(A) wad A
(C) A 3T AB
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A & o H g i T T ST € 2
(A) &= gig

(B) @ty
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(D) ST H ¥ HE T |

fr=fefad =t ufed iR A T3 faseat
Y TEI I N T I —

HRE ST S Gt i aRardd w
A

() SEREA (i) A SarE
(i) WFEHTIT  (iv) IGrE® G
&<

(A) 1, iii, iv (B) i, i, iii

(C) 1i,iii (D) i, ii, iv
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AT T & |

(C) (A)TFE, W (R) ITAE |

(D) (A) 3TAE, g (R) TI ¢ |
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33.

Given below are two statements, one is
labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) Land alienation
among the tribal population is
occurring rapidly and is leading
to their vulnerability.

Reason (R) : Deforestation due to
coming of multinational
componies and  extensive
mining is occurring in the tribal
areas.

In the context of about two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Given below are two statements, one is
labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) Generalized
reciprocity reinforces solidarity
of the group as a whole by
establishing patterns of
obligations and interdependence
that continues through time.

Reason (R) : Generalized reciprocity
is a pattern of exchange in

which individuals contribute
with expectation of return in
kind.

In the context of about two statements
which one of the following is correct ?
Codes :

(A) (A)is true but (R) is false.

(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(D) Both (A) and (R) are true and (R)
is the correct explanation of (A).

Paper-I11
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35S.

36.

Given below are two statements, one is
labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) : “Unity in Diversity”
is the dominant cultural trait of
Indian society.

Reason (R) : The people of India
express  unity, eventhough
cultural diversity and variations
exist among different ethnic
groups.

In the context of about two statements

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C) (A)is true but (R) is false.

(D) (A) is false, but (R) is true.

Given below are two statements, one is
labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) : Ethnography essentially
involves empirical work.

Reason (R) : Ethnography is a metho-
dology theory or set of ideas
about research in anthropology.

In the context of about two statements

which one of the following is correct ?

Codes :

(A) (A)iscorrect and (R) is wrong.

(B) (A) is wrong and (R) is correct.

(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct.

Given below are two statements, one is

labeled as Assertion (A) and the other

is labeled as Reason (R).

Assertion (A) : Consanguinity is a
form of non random mating.

Reason (R) : Its frequency is very
high in north India.

In the context of about two statements

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false, but (R) is true
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32.

33.

I < e f5F T E, U A sty
(A) 3T T H HROT (R) HT A8 &7
T E -

ATHHAT (A) : TSR ST & &
o el st § & W@ & 3T TR
aﬁmﬁwﬁaﬂ?mwﬁr%

HWU (R) TGO AT 3T
Wﬁa&%ﬁﬁﬁwﬁﬁww
% SHRUT o1 <l HIE & @I |

ST I FUAT ok T # Frefatad o

Y BT FE T 2

B

(A) (A) 3R (R) 3H1 T &, 3R (R),
(A) I & AT T E |

(B) (A) &R (R) Ml ¥ & WA
(R), (A) i T8l AT ¥ |

(C) (A) I T (R) AT |

(D) (A) IFALTTF (R) TAT |

I 3 e T3 T E, Uh H AT

(A) 3T T H HRIT (R) HT A9 fear

T -

AU (A) : T IR,
TG qen iq-FRar & Ued, S
Fad @ed Ed §, ©ud #eh
Ul GHE  H UHTRAT Pl
Qeferd et € |

HRUT (R) : IEHFHT  IRREAT
fafma o1 us ted € e =t
T O %ol AT A9Er S T
% WY NS A € |

ST S FUAl & Gy H EterEd |

T DT Tl E 2

kT

(A) (A) TFT &R (R) AT |

(B) (A) ITAT WA (R) TAT |

(C) (A) 3R (R) 3 T &, 3R (R),
(A) I & AT T € |

(D) (A) 3R (R) 3 T &, 3R (R),
(A) T TEl A F |
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34.

35S.

36.

e 3 o 153 T €, T o 3T (A)

3 A 1 HROT (R) T AT f&ar mam & —

e (A) ¢ Tafauar § Tshar aRa
T ! THE Hpideh [T € |

HRUT (R) : 9RT H =T AT 9081 &
aﬁamﬁrﬁwwﬁm
o™ g9 & aresg AT ey o
el S A & |

ST I Ul & G H Eferad |

Y DT T E 2

% . .

(A) (A) 3R (R) 59 & €, &R (R),
(A) ! e AT TR T |

(B) (A) 3R (R) 3 & €, &R (R),
(A) o T&l =@ E |

(C) (A)TAE, (R) AT |

(D) (A) 3EAE, (R)TIE |

e 37 e 58 T, U o AT (A)

3 A 1 HROT (R) T AT f&ar mm & —

AfHT (A) : TN FUH TR dR )
ST 18 ¥ Fery T@AT ¢ |

FHRUT (R) : T 90 g o= |
MY & 9R H foERl 1 wHg 4T
FRUF - g ¥ |

ST q1 T F T3 H HEferad §

Y AT T 2

HT:

(A) (A) &g, 3 (R) T ¢ |
(B) (A) 7o &, 3R (R) el ¢ |
(C) (A) 3R (R) 3 T & |

(D) (A) 3 (R) T I |

T =1 o T T E, U AR (A)

31T G I HROT (R) I 9 2 7 & —

AT (A) : TG SHAG DS
FETE |

: ST URA H g g
a1 &

agd |

UG 3 FA % T | ffafad |

H BT T ?

S A

(A) (A) 3 (R) 3H & &, 3 (R),
(A) o T&l =T E |

(B) (A) 3R (R) a4 &7 &, 3R (R),
(A) l T& AT TR € |

(C) (A) TFE, W (R) AT |

D) (A) G, (R)THAT |
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37.

38.

39.

Given below are two statements, one is
labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) : Haemophilia is the
most common severe inherited
coagulation disorder.

Reason (R) : Haemophilia is an
autosomal recessive disorder.

In the context of about two statements

which one of the following is correct ?

Codes :

(A) (A)is correct and (R) is wrong.
(B) (A) is wrong and (R) is correct.
(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct.

Given below are two statements, one is
labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) Sagittal crest is
present among Gorillas.

Reason (R) : Sagittal crest is there
for the attachment of powerful
masticatory muscles.

In the context of about two statements

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue but (R) is false.

(D) (A) is false, but (R) is true.

Given below are two statements, one is
labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) : Kuru is observed
among the members of the fore
tribe in New Guinea.

Reason (R) : It is a disease of cultural
practice as well as a prion
disease.

In the context of about two statements

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.

(D) (A)is false, but (R) is true.

Paper-I11
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40.

41.

42,

43.

Given below are two statements, one is
labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) : Trade and commerce
had important role in the Indus
valley civilization.

Reason (R) : Innovation of weights
and measures system prompted
the Indus people for trade and
commerce.

In the context of about two statements

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are wrong.

(B) Both (A) and (R) are correct.

(C) (A)is correct, but (R) is wrong.

(D) (R) is correct, but (A) is wrong.

Given below are two statements, one is
labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) : Plastic art is common
in central Europe but cave art is
not common in this region.

Reason (R) : Early man of central
Europe had little opportunity to
live in cave.

In the context of about two statements

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are wrong.

(B) (A)is correct but (R) is wrong.

(C) Both (A) and (R) are correct.

(D) (A) is wrong but (R) is correct.

An important contribution of L.P.
Vidyarthi to the study of Indian
Society and culture, is

(A) Man — Nature — Spirit — Complex
(B) Natrure — Man — Spirit — Complex
(C)  Spirit — Nature — Man — Complex
(D) Man — Spirit — Nature — Complex

Arrange the political organization of
human groups in the ascending order
of complexity :

(A) State — Chiefdom — Tribe — Band
(B) Band — Tribe — Chiefdom — State
(C) Chiefdom — Band — State — Tribe
(D) Tribe — State — Band — Chiefdom

J-07-14



37.

38.

39.

e =1 o 58 T €, U Rl ST (A)

3R GEY 1 HROT (R) T 19 fear mam & —

AfUHA (A) : EHIBICTT SN @he
ToepieT o1 QaTtaeh 31T TR &0 & |

HRUT (R) : EH®ICET  SAEE
AR AT ST fohia & |

ST &1 oAl & T H H=tetad §

Y AT el ¢ ?

C XA

(A) (A) TEE, 3T (R) T & |

(B) (A) Td €, 3R (R) W&l & |

(C) (A) 3T (R) T T & |
(A) 3T (R) I T E |

(D)

e 37 e 8 T €, Th B ATTE (A)

31T G I HROT (R) T A e mar & —

ATUHA (A) : AT [@fSTeet) FHort
TReeATet | Ui el € |

HROT (R) : TEMAET FHerm  oel
Va9l FTEUhRT AU %
e & e el ¢ |

ST T FUA & T § Eterad |

Y AT T E 2

C XA

(A) (A) &R (R) A1 & € 3R (R),
(A) T TEl AT F |

(A) 3T (R) 391 §F & 3 (R),

(A) I W& AT T € |

(A) 9 &, W (R) SHAE |

(A) ST TR (R) TA & |

e 37 o {53 T €, Uh T ST (A)
31 G I HROT (R) T A e mar & —
afipe (A) @ = Tl § &R SHed &

TN % S % BT TR T E |
HRUT (R) : IE QiEpias T & AT &

3 T & T g TS T o T |
UG 1 Al % T W fetetad o
Y AT T E 2

C XA

(A) (A) &R (R) TF1 & € 3R (R),
(A) T TEl AT F |

(A) X (R) 391 §F & 3 (R),

(A) I e AT T € |

(A) TF %, (R) 38T |

(A) AT, (R) TIE |

(B)

©)
(D)

(B)

©
(D)
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40.

41.

42.

43.

T g1 o T8 T €, U A St (A)

3T 8 1 HROT (R) T AW ez mn & —

Afme (A) : Ty T T § SR
TS OIS S HEw@qoT i o |

HROT (R) : &1 TS WO 1 U0 H
TOTeA & FaTaR + 4y 7t & e
%m@aﬁw%%&m

|

ST I oAl & T3 H Heferad o

Y 9T T E 2

%

(A) (A) 3R (R) I ToAd € |

(B) (A) 3R (R) T I |

(C) (A) W g, W (R) T ¢ |

(D) (R) W&l &, W (A) Tord ¢ |

T 31 e 58 T €, U AT (A)

3 A 1 HROT (R) T 19 fear man & —

AfuFHTT (A) : FRE T[T T WIEH
AT FAGT & W] TH Holl 39
& H GO ¢ |

FHRUT (R) : F5T AT & SRETH TG
H THE H T H HA G T
o |

UG 3 Al % T | frAfafad |

Y 9T T 2

HT:

(A) (A) 3R (R) I TToAd € |

(B) (A) Wel g, W (A) T ¢ |

(C) (A) 3R (R) T T |

(D) (A) Tod &, W (R) T € |

TR ST T @i 6 AT H T,
. foremedt &1 FewEgUl AEE €

(A) HAHT — UFHd — 3T — IRTT
(B) WA — TS — 3T — IRET
(C) 3TTHT — UPd — I — TRET
(D) HHT — 3T — Ui — IRT

A THET o TSI TS i STieerd!

% STRIE! HH | amerd &

(A) T — GRIAG — ST — &

(B) T — STHSIT — GREATA — T

(C) TREATH — T — T — S

(D) ST — T5F — {6 — JREaT=
Paper-I11



44. Identify the correct sequence of the
social groups within the caste of
Indian society in descending order :

(A) Gotra — Sub-caste — Family -
Lineage

(B) Sub-caste — Gotra — Lineage —
Family

(C) Family — Lineage — Gotra — Sub-
caste

(D) Lineage — Family — Sub-caste —
Gotra

45. Among the following identify the
correct sequence of steps involved in
making a research design :

(A) Review of literature -
hypothesis — selection of topic —
tools of data collection

(B) Tools of data collection -
selection of topic — hypothesis —
review of literature

(C) Hypothesis — review of
literature — tools of data
collection — selection of topic

(D) Selection of topic — review of
literature — hypothesis — tools of
data collection

46. Arrange the growth of participatory
research methods insequential order :

(A) Participatory Rural Appraisal
(PRA) — Participatory Learning

Assessment —  Participatory
Rapid Rural Apapraisal
(PRRA) - Rapid Rural
Appraisal (RRA)

(B) Participatory Learning

Assessment (PLA) -
Participatory Rural Appraisal
(PRA) - Rapid Rural Apa-
praisal (RRA) — Participatory
Rapid Rural Appraisal (PRRA)

(C) Rapid Rural Appraisal (RRA) —
Participatory Rapid Rural
Apapraisal (PRRA) - Partici-
patory Learning Assessment
(PLA) - Participatory Rural
Appraisal (PRA)

(D) Participatory  Rapid  Rural
Apapraisal (PRRA) - Rapid
Rural Appraisal (RRA) -
Participatory Rural Appraisal
(PRA) — Participatory Learning
Assessment (PLA)

Paper-I11
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47.

48.

49.

Identify the correct sequence of
paleo-technique forms of peasant eco-
types :

(A) Long-term fallowing systems —
Sectorial fallowing systems —
Short term fallowing systems —
Permanent cultivation.

(B) Sectorial fallowing systems —
Long-term fallowing systems —
Permanent cultivation — Short
term fallowing systems

(C) Permanent cultivation — Short
term fallowing systems -
Sectorial fallowing systems —
Long-term fallowing systems

(D) Short term fallowing systems —
Permanent cultivation — Long
term fallowing systems -
Sectorial fallowing systems

Identify the correct sequence of
‘Eras’ in the geological time scale
from earliest to the recent :

(A) Precambrian - Paleozoic -
Mesozoic — Cenozoic

(B) Cenozoic - Paleozoic -
Mesozoic — Precambrian

(C) Paleozoic - Precambrian -
Cenozoic — Mesozoic

(D) Mesozoic — Paleozoic -

Precambrian — Cenozoic

Which of the following lists the steps

of the scientific method in order ?

(A) Selecting a research problem —
Formulating a research design —
Collecting data — Analysing the
data — Interpreting the data

(B) Collecting data — Interpreting
the data — Analysing the data —
Selecting a research problem —
Formulating a research design

(C) Formulating a research design —
Collecting data — Selecting a
research problem — Analysing
the data — Interpreting the data

(D) Selecting a research problem —
Collecting data — Interpreting
the data — Analysing the data —
Formulating a research design

J-07-14



44, YRAE TES H A FGET F TR
TSI TRl o A I STeRIEl A W
ATy
(A) T — IS — IRAR — S9meet
(B) SUST — T — SeTE — qRaR
(C) URER — SR — T — ST
(D) SEEAT — URER — IS — T

45. Iy w1 INMHeT (A1 TeoE) W 9
T T 1 T&l oA Sared —
(A) e QI o qHIET — GReheTT
— TOT N T — ST TUE b
ITHT

(B) 2T TUE & IUBIUT — U H
TIT — UNEHOUT — WIEeT AT
i e

(C) UReheTT — TTfEeT | ot JHeT
— I GUE & SURT — THOT AT
ICERRCARCRE]

(D) UHOT (AT a9 1 999 — Wi
HTHUT <l THIET — IREeTT — 22T
TUE & ITHIT

46. TEITH Iy Ugaal & fawm @i
T IehiHe HH | FaTId i
(A) Tewrlt T e (PRA) —
T AT godichd — Fewwit
g 7T geais (PRRA) — §d
TTHIOT gedish (RRA)
(B) Wewrlt oferm godisd (PLA) —
TEITT TTHT gedis (PRA) — g
TTHIOT godaishT (RRA) — T g
TTHIoT g (PRRA)
(C) 3 7T godais (RRA) — Feymt
gd WM g (PRRA) —
T e gedied (PLA) —
T AT Heai (PRA)
(D) Wewrlt g UHIT JeaidA (PRRA)
— 3 W goaiEa (RRA) —
TEIr wT gea (PRA) —
T 31Ty HoaiehT (PLA)
J-07-14
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47.

48.

49.

% TEl ST I T i :
(A) THEFHTTH WA JH FeEm -
CEIR I L I (|

(B) &HE wdl g wEEmW -

(©) o W — s T

wegSrey
(D) TeASTET — QRISTE! — Tehohisrd —

frafafea gt & 9 ot fafs &
I =T T E 2
(A) EgH  THET H OFE -

Ahe THA HAT — IATHT B
faroctoor & — offeRgl = amEn
AT

(B) 3Aihg UHA HLAT — IAhEl Hl
AT FAT — ATHE N [avelTor
HEAT — SHYH FHET FH TG —
ST 31T IR AT |

(C) FEYM Mhed daR HAT —
3HS THT HAT — TG T
FH TIT — AHE H favATOT —
SRS I AT HET |

(D) 3TTEYM WHET & 9T — kg
UhT HAT — TS Hl AT
FAT —  SATHE BT (ORI —
ST 3T IR AT |
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50.

Identify

the correct sequence in

estimating the alleles frequency of ABO
system :

(A)

(B)

©)

(D)

S1.

Absolute number - Percentile
frequency — Number of alleles —
Gene frequency

Absolute number — Number of
alleles — Gene frequency -
Percentile frequency

Number of alleles — Absolute
number — Gene frequency -
Percentile frequency

Percentile frequency — Absolute
number — Gene frequency —alleles
frequency

Arrange the following into the correct

sequence on the basis of their increasing
cranial capacity :

(A)

(B)

©)
(D)

52,

Lemur - Australopithecus -
Gorilla — Homo erectus — Modern
man

Lemur - Gorilla -

Australopithecus — Homo erectus
— Modern man

Gorilla — Lemur — Homo erectus
— Australopithecus -Modern man

Modern man - Gorilla -
Australopithecus — Homo erectus
— Lemur

Identify the correct sequence of stages

which form part of the prophase I :

(A)
(B)
©)
(D)

53.

Leptotene — Zygotene — Pachytene
— Diplotene — Diakinesis

Zygotene — Leptotene — Diplotene
— Diakinesis — Pachytene
Pachytene — Diplotene — Zygotene
— Leptotene — Diakinesis
Diakinesis — Leptotene — Zygotene
— Pachytene — Diplotene

Identify the correct sequence of the
following fossils

leading to the

present day human beings :

(A)
(B)
©)
(D)

Paper-I11

Australopithecus — Proconsul —
Propliopithecus — Man
Propliopithecus — Proconsul —
Australopithecus —-Man
Proconsul — Australopithecus —
Propliopithecus — Man
Australopithecus —  Proplio-
pithecus — Proconsul —-Man
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54.

5S.

56.

57.

Arrange the following sites in their
chrono-cultural order :

I Kuchai

1I. Attiram Pakkam

III.  Sarai Nahar Rai

IV. Bhimbetka

Codes :

(A LIaLIv,au @B) ILIOLLIV
© I1I,Iv,aL1 (@) IV,LI 1

Choose the correct sequence of the
following cultural traits of prehistoric
man.

L Domestication of plants

II.  Blade tools

III.  Domestication of fire

IV. Domestication of dog

Codes :

A LILULIV B) IILILIV,I
©) IV, ILILT (D) ILIV,I I
Arrange the following epi-
palaeolithic sites on the basis of
chronological sequence of
occurrence.

L Pavlovian II. Hamburgian
III.  Azilian IV. Swidrian
Codes :

(A IV, ILILT B) LIV,
©) I1LuLIiv,1 () ILILILIV

Match the items in List-I with an item
in List-II. Use the code given below :

List -1 List - 11
a. Provisions of the i. 1996
panchayats (Extension
to the scheduled areas)
PESA Act
b. The Scheduled Tribes ii. 2006

and other traditional
forest dwellers
(recognition of forest
rights) FRA Act
c. The national com- iii. 2003
mission for Scheduled
Tribes
d. The Scheduled Caste iv. 1989

and scheduled tribes
(Prevention of
Atrocities) Act

Codes :

a b C d
(A) 1 il i iv
B) iv il 1l 1
©C) i iv 1l 1
D) iv 1 m 1
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50. T 3 WUt i Ueler Mg 1 SFHM

S1.

52,

53.

AT & foTT Tt 561 1 Tafed Hife

(A) U d@m — vags ema —

Uedlet sht T — ST gt

TRUs W@ — Uela & S —

S Mg — ¥aHes 3Tgha

(C) UGt dem — FRuer e — Sie
ST — ¥Iaae g

(D) VA9 Mg — FRuer e — S
Mg — Teitet emgha

Tr=fefad @ 3 Sedl g8 HuTer &THdT
% 3MYR W TEl 9 H L

(A) TR SRS — MR —
T A — MYE A |
TRt — MR — ST
— B WA — 3YFEH A |
M — femest — B Reaew —
TR — SMYFHH AT
aMgH®  WHE - TRenm -
AMAMSFT — B WFd —
et |

I EEeT W GEl e | fafed sif,

ST =TT (HE-1) & 9T €

(A) weRH — R - teeE -

fewtie — erfefag

fSifet — weRE - fewieq —

ST — Ui

(C) UM — fewieq — fmem -
AR — SRR

(D) SREFAHET — d@ee — e —
e — femme

3T & AFe ¥ Geitad Ftanad siemed
?ﬁﬂﬁwﬁﬁ%ﬂﬁaﬁﬁq

(A) oTENyIsd — UeRge  —
AT — T
MAsTdsd  — Wi
ALTAIHT — AT

(C) Wehged - TRy,
AT ST — T
SLETANAHT — WA s —
ehgel — FE

(B)

(B)
(®)

(D)

(B)

(B)

(D)
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54.

5S.

56.

57.

fefaiad ®Iell & 39 HIA-AHaF
S | ared Hi
AT TeRH

. ¥ IL.
M., WEARITT IV. YHaeH
(B) ILIL LIV

FT
(A)
D) IV, LIIL I

©

TRITRITe: A i Fefariad Qgpids
%ﬁwﬁwaﬁmw

OTET T STt

LIIL IV, II
IL IV, IIL, I

II
. 3 1 3 per

IV. 9 % o] o

B
A LILIOLIV B) ILILIV,I
© IV,ILILI (D) ILIV,I I

frretfeiad sFqemmmr el T
ST % IS T o Sarerd

L. ﬁaFm%m II. grafsET
. Ui V. w@red
HT:

(A) IV,ILILI (B) LIV,ILII

(C) ILULIV,I (D) ULILLIV
T - 1 <1 Al R g - 1L S Al %
Ty gafed Hic I T %2 9
T A T TIT BT
T -1 et - 11
a. q%rrqa‘réo-ggm i 199
(3TTgrer &=
%Wmﬁgwq
b. aaghamﬁrqa ii. 2006
3 URWRE el
@qﬁrﬂfrﬁm)
@w‘mq
C. ﬁmmﬁm 2003
d. g iv. 1989
aﬁ%ﬂmﬁr@w
ATy At
%

a b c d
(A i i il v
B) iv i il i
(C) i iv il i
D) iv 1 i il
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58.

59.

Match items in List-I with items in
List-II. Use the codes given below :

List-1 List — II
a. Incest i.  Unilineal descent
group based on
demonstrated
descent

Forbidden sexual
relations with
close relatives

b. Agnatic ii.

c. Uterine  iii. Relationship traced

through father,
brothers and sons

d. Lineage iv. Relationship traced

through mother,
sisters and
daughters

Codes :

a b c d
(A) i i v i
B) i i il iv
© i oiv il i

D) iv i i i

Match an items in List-I with an items
in List-II. Use the codes given below :

List-I List-11
a. M.N. Srinivas i. Parochioli-
zation
b. L.P. ii.  Folk urban
Vidyarthi continuum
c. Mckim ii.  Sanskritization
Marriot
d. Robert iv.  Sacred
Redfield complex
Codes :

a b c d
(A) iv i il i
B) i v i il
©) i i iv il

D 1 i i v

Paper-I11
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60.

61.

Match an items in List-I with an items
in List-II. Use the codes given below :

List-I List-11
a. The chenchu 1i. North-West coast
of America
b. The Kung san ii. Mountainous

island of Japan

Kalhari Desert of
Africa

c. The Ainu 1ii.

Nallamalai forests
of India

d. The Kwakintl iv.

Codes :

a b c d
(A i i i v
B) i i iv il
(C) iv i il i

D) umw v i il

Match an items in List-I with an items
in List-II. Use the codes given below :

List-I List-11
a. Margaret i.  The rise of
Mead anthropological
theory
b. Claude Levi  ii. Patterns of
Strauss culture

c. Ruth Benedict iii. Coming of age in

Ss€moa

Structural
Anthropology

d. Marian Harris 1iv.

Codes :

a b c d
(A) it v il i
B) i (VS TV S \Y
©) i i v il
D) iv i i ii
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58.

59.

Tt - 1H 3 Ha) 6 g - 11 &Y A&l o
e gaferd S &R A 53 B @

el 3T 1 TTT B
T -1 = - 10
a. TR i TR Ol &
(PIeTaTeh) YR T TG
TS TR
b. ST ii. < gt &
[y oy I
ey
c. fafugsy il e, R wE g &
faftrget ST e T
T T
d. demaett v, Wi, 989 Ud O %
S gt T
T T
E T

(A i 1 v

B) i i il v
© 1 oiv il i
Oy v ou i i

Tt - 1H < Ha) 6 g - 11 &Y el o
T GAfed i dARX T 77 $ 9

& ST T T4 BT

e -1 = - 11
a. UAUA e i Hehomeor
b. Ul famel i, AR

RIGE2ED

c. AT ARSI  iii. GRS
d. T TEwes v, U GRS
FE:

(A) iv i i
B) i iv i i
©) i i v il
D) i i i v

J-07-14
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60.

61.

T - 19 3t 7l 0 g - 1 H & Rl
Ty Rl HeE R A D B 9

el ST 1 T4 Hifd
e -1 = - 11

a, o9 i MR # W
gfeenft 92

b. A . STUH 1 gEAE §1T

c. &I iii. TRIHT T el
HEA

d. FhSA jy, HRA o TAHATE o

C I

(A 1 i i iv
B) i i iv i
© v m 1 1

D) umw v i il

T - 19 3t 7l 0 g - 1 H & 9l
Ty gAfed i 3R 99 7T $ 4

TEl ST T T4 i
e -1 = - 11
a. AMRZ HE §, A e A
o
Y

b. FAS well- i, U SATE Foe
L)

=

c. B IAITEFE {jj, HIET 3h T

AT
d. ARG E iy, FEe vgrrsit
T

(A) 11 iv il i
B) 1 i i iv
© 1 i iv i
D)y v m i i1
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62. Match items in List-I with items in
List-II. Use the codes given below :

List-I List-1I
a. Adaptation i. A distinctive life
style of

organisms and a
unique use of
resources

b. Ecology ii. The process by
which organisms
cope with
environmental
stress

c. Ecological  iii. Branch of science

niche concerned with the

relationships
between organisms
and their
environment

d. Ecological  iv. An interacting

community group of plants or

animals,
organisms living
together.

Codes :

a b c d

(A iv 1 i il

@) i 1 i v

(©) i vl i

D) i i v il

63. Match items in List-I with items in
List-11. Use the codes given below :

List-1 List-11
a. Australopithecus 1i. India
b. Homo florensis  ii. Germany

c. Ramapithecus iii. Indonesia
d. Heidelberg Jaw  iv. Africa
Codes :

a b c d
(A) i i i iv
B) i i v i
<G 1 oq i iv
(D) iv i i i
Paper-111
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64. Match an items in List-I with an items

65.

66.

in List-II. Use the codes given below :
List-1 List-1I

a. PTC tasting ability i. W. Cordes

b. Phenylketonuria ii. A.E. Garrod

c. Alkaptonuria iii. Arthur Fox
d. G-6 PD deficiency iv. Asbjorn

Folling
Codes :

a b c d
(A 1 i i iv
B) iv i i i
C) i v il i
D) iv di il i

Match an items in List-I with an items
in List-II. Use the codes given below :

List-1 List-1I
a. Epicanthion i. Eyes
b. Stomion ii. Mallars
c. Gnathion iii. Lips
d. Zygion iv. Chin
Codes :

a b c d
(A) 1 il iv il
B) ii i iv i
©) v i il i
(D) i i v

Match an items in List-I with an items
in List-II. Use the codes given below :

List-1 List-11
a. Foramen 1.  Cervical
Magnum

b. Linea aspera  ii. Cranium
c. Manubrium  iii. Femur
d. Atlas iv. Sternum
Codes :

a b c d
(A) 1 il iv il
B) iv i d i
(O I ¥ S S i
D) i i il iv

J-07-14



62. T - 19 S Osl & gl - 11§ S 751
e gaferd i oK 99 3 e 9

el ST T =TT BT

= -1 =t - 10

a. 3TFAH i Siar  fafre
STre Sret aar
AT A
SO

b. wIRfefql i, @& Ufshan f5Taeh 51T
SicReiCruipiEiC)
% T SR ¢ |

c. TRIIfTHE  {ii. STl q9r 37

UG e TATERT &
Tl o WY T
TG Al o o
RUEEH

d. TiRfefqsE v, U 91Y @ W© ST,

TEE TETS AT Ure
T T ST
ltetl JHe

E T

a b c d

(A) iv 1 m i

B) i 11l 1 v

(©) i iv i i

D) i i iv i

63. Tt - BSOS H gl - [ H o5l &
Ty gAfed Hifv AR 99 77 $e 9@
TEl IT B T BT
e -1 =t - 11
a. SEENUIHT i 9Rd
b. B FARMAE  ii.  STEAT
c. TAAHT iii. MR
d. gt i iv. TR
E T
a b c d
(A 1 11 - iv
B) 11 i v 1
© 1 1il n o iv
D) v i i i
J-07-14
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64.

65.

66.

et - 1 H < HaT g - 119 &1 581 ok
e gafed i &K T 53 $e @

el TR BN T BT
T -1 =t - 11
a. PICTE & i T=F *ied
T
b. fFTEeTheRaT ii. T T TRig
c. FAPCARAT  iii. MR HH
d. G-6 PD & HHT iv. T&SH
ifeeTT
He
a b C d
(A i i i v
B) iv i i i
(C) i v i i

(D) iv i i i
et - 1 H < HaT g - 119 &1 581 ok
Ty gAfed i 3R 99 7T $ 4

el ST 1 T4 B

= -1 =t - 11
a. Q‘Fﬁ?ﬁmﬁ? I
b. wifFam= ii. e
c. AfeTA iii. g
d. SEf iv. g2
kT

a b c d
(A i i iv i
B) ii i iv i
©) v i i i
D) i i i v
gt - [ & 0e1 6 gt - 118 S 05 &
Y gafed Hi AR A G w9

HET I I TIT B
e -1 =t - 11
a. BET §T=E i \iaewd
b. AT TERT i AT
c. TfsTa iii. 3o-3heT
d. Teem iv. -3 (=)
T

a b C d

(A) 1 m v 1
B) v 1 i 1
© 1 i ivod
D) 1 i v
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67.

68.

Match an items in List-I with an items
in List-II. Use the codes given below :

List-1 List-11
a. Technological 1. Increased heart
adaptation rate, hyper-
ventilation
b. Genetic ii. Air-conditioned
adaptation rooms
c. Physiological iii. Larger “barrel
adaptation chests”
(long-term)

d. Physiological iv. More efficient

adaptation respiratory
(short-term) system to extract
oxygen from
‘thin air’
Codes :

a b c d
(A) iv i il i
B) i1 i iv i
©) i i v

D 1 i il v

Match items in List-I with items in
List-II. Use the codes given below :

List-1 List-11
a. Sewall Wright i.  Genetic Drift
b. Bernstein ii. DNA Finger
printing
c. A.E. Garrod iii. ABO allele
frequencies

Inborn errors of
metabolism

d. Alec Jeffereys iv.

Codes :

a b c d
(A) 1 i iv il
B) i il i v
©) iv i il i

D 1 i i v

Paper-I11
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69. Match each items in List-I with each
items in List-II.

List-I List-I1
(Name of the (Name of the
Book) Author)
I. Man the tool 1. F.A. Zenner
maker
II. Environment 2. H.D. Sankalia
and
Archaeology
III. Dating the past 3. K. Butzer
IV. Prehistory and 4. K.P. Oakley
protohistory of
India and
Pakistan
Codes :
I Inm 1 1v
(A 3 1 2 4
B) 1 2 3 4
<C 4 3 1 2
D) 2 1 3 4

70. Which one of the following pair is

correctly matched ?

(A) Sohan Valley — Flake-blade Tools
(B)  Olduvai Gorge — South Africa

(C)  Opposability of thumb — Tool making
(D)  Urn burial — Upper palaeolithic

Read the passage below and answer the
question that follow :

Only relatively recently have business
people came to realize that anthropologists
have useful knowledge to contribute,
particularly with regard to the globalization
of trade, the increase in international
investments and joint ventures, and the
spread of multinational corporations. What
can anthropology offer ? One of the most
important contributions of anthropology is
understanding how much culture can
influence relationships between people of
different cultures. For example,
anthropologists know that communication
is much more than the formal
understanding of another language. People
in some countries, such as the United
States, expect explicit, straight forward

J-07-14



67. gt - 19 3 gl B g - [ H & Asi &
Ty GAfed i AR F9 77 $ 9

TEl IT B T BT
T -1 = - 11
a. i 1. aﬁgﬁm
P T,
CrolItEa

e
b. S FHEH i, ATAHAA
F

c. YRR e iii. SATET FET
EREINED! TR AT

(A) iv i i

B) i i iv i
©) i i i iv
D) i i i v

68. Tl - 19 S Usl & gl - 11 H S 731
e gaferd S oK 99 3 e 9

el ST 1 =TT BT
e -1 = - 10

a. IA T i. S IEwE
(fgw)

b. S ii. SLTAT S
ST

. TT W  iil. TS T
gt

d. A% ARAH  iv. SUTE
it Fieat

C YAN

(A) i il iv i

@®) i i i iv

©) iv il i i

D) i i il v
J-07-14
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69. - 19 3 wei H gE - 11 H & Aef 6
e gafed i &K T 53 $e @

HET I & TTT B
e -1 =t - 11
(TETH T ) (FTTH)
I I TATR 1. THT IR
[[. TA8e 2. UEEr
eycy HepTterar
anfepaAiterstt
[l SErsiuRe 3. & SR
IV. It et e 4. U el
el-fewedt
3T Srear Toe
PliEzsiE]
T
I oI m 1Iv
A 3 1 2 4
@ 1 2 3 4
< 4 3 1 2
™ 2 1 3 4

70. ffefEd 9§ 9 SFE g8 T Sfed € 2
(A) WETER — Ioh oS ISR
(B) TS o TATETE — SRT0T STShiehT
(C) 3T &l faRie=T=ar — SIS M
(D) Y& el — e QRIITSToT

I 58 a=sg & ufgd 3R ot fa ool &
ST RIS |

il T THT Teel & AR AN R
o o & {6 AedEmEr SuEe
T N AMEE F Thd €, o9 T 9, IR
% AveleoT, e e ue dge sem,
IR g™ I & TR & g |
AT 1§ Gehal & ? HHeieRie &1 Uh
Tatye FEw@ul ANEH IE TS AT [H § 6
i depfaal o o % s GEl Sl @
g TR wifed &t & | SIERT & ford,
AR ST € T SERt 9Tor &t =i
TH B T T GHTOT FHE AT BT € | B
M, S 3TeT, | T geTte, WY ud Hifgsw
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verbal messages, but people in other
countries are more indirect in their verbal
messages. In Japan and China, for example,
negative messages are less likely than
messges  expressing  politeness  and
harmony. Many eastern cultures have ways
of saying no without saying the word.

It is also important to understand that
different cultures may have different
values. People in the United States place a
high value on the individual. The
importance of relationships with others may
take precedence over individual needs in
other places. People in the United States
emphasize the future, youth, informality,
and competitiveness, but in other societies
the emphases are often the opposite. In any
arrangement,  perhaps  no
difference is as salient as the value of

business

culture places on time. As we say, “Time is
money.” If a meeting is arranged and the
other person is late, say, 45 minutes people
from the United States consider it rude ; but
such a delay is well within the range of
acceptable behaviour in many south
American countries.

Anthropologists have helped busineses
become aware of their own “cultures”
(some times referred to as organisational
cultures). The organizational culture of a
business may interfere with the acceptance
of new kinds of workers or it may interfere
with changing business needs. If parts of
that culture need to be changed, it is
necessary first to identify what the culture
involves and to understand how and why it
developed the way it did. Anthropologists
know how to identify cultural patterns on
the basis of systematic observation and
interviewing of individuals.

71.

72.

73.

74.

75.

Paper-I11
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Recently business people have come
to reaize the usefulness of
anthropological knowledge, because
anthropology can contribute to the

(A) Globalization of trade

(B) International investments

(C) Spread of multinational
corporations

(D) Understanding of relationships

between people of different
cultures

Which is the country where people
are direct in their verbal messages ?

(A) Japan

(B) United States
(C)  United Kingdom
(D) France

In business arrangements, nothing is
as important as the value of

(A) Money

(B) Time

(C) Information
(D) Returns

It is anthropologists who have made
business people  realize the
importance of

(A) organisational culture

(B) worker’s culture

(C) management needs

(D) Dbusiness arrangements

Anthropologists know how to identify

cultural patterns, because they

conduct

(A) Business analysis

(B) Survey of workers in the
organisations

(C) Assessment of the changing
business needs

(D) Systematic observation and
interviews
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T W STUST A & U 3T M A AT
T g WSO & Ty T ST ST B
£ | ST % ford, a3 o /5T qen
GEREAT 3MHeTT FA aret |ael & g |
FHRICH G391 HH T el & | g | gat
TR & U 6% et SR T e % i
TAE |

Tg U o off EvEs § i e
G&paal & W= 7o g € | eEReR |
TR Sl ST Hewdl I & STaieh 31 S o
STHIT STETAHAT D! AT | AT o T
Tra= SATET WTAHe & Fobd & | STHNERT § i
ATl WX 961 90 € W= 37T |HTST A,
e 399 fawdia o190 W oo fear Siar & | T
off AR e |, HiE off SR a1 TgE et
S fF 9%Fld 511 999 @ @ STH aren
e | ST o 89 &ed & “uH 99§ | Al
T AT ! A & SR T Ao o 9
AT &, A & 45 e foors 9, o 3TRen &
AN T TG FAER FE ;. W] HE IR0
IRHT 3T A AT foaons Wi SRR &
T % 3TRT AT |

AHa foRi-=t = SFedmEr sl 370 G i
T (T TeATHS Gepiaar ot el
ST §) ¥ STk B H Weadl i § | SeEa
H WSS G&Hid 7 THR & HIHBI B
WG % T FAAT W Ghdl €, AT T
I B TRl SEAl % d1Y g ET Y
Tl & | AT IH TEHIT % FB 680 & agor
W TR €, A FAVH TE UM HAT STeIH
1o TGPl & -7 ST ¢ 3R I8 qHHT o
F o8 30 THR ¥ fasiad g & | Aratam
SMa € 6 Haueg e td Al &
TR o STMER I WIRHid Uiaqsar i d
TR Tea AT & |

71. FMREAT & AFEETEE T9 & a8 9
BT § T T {6 Ae fomie et
& | AR < Fhell §

(A) AR H ITHIT
(B) A fFewr
(C) TEUET FHHf H TR

(D) o= Fwplaar & oM & o9
Tl ol T

72. 9 =0 % @M od Hitgsw weRn A

TTT & ?
(A) SmUE (B) emRE
(C) FAes frem (D) Wi

73. FEEIEAE FAET § FS Al A Hew
Tt T & e

A) &1
©) =T

(B) g
(D) Hid%er

74. THa fomiEi 4 @ S=WiREl @
FefeIiad ol Ao GHeM § g i ¢

(A) HIATHE GE&HIA

(B)  HITESHT i FEHT

(C) Uaw i METIHAT

(D) FTHE/RREN T Soe2T

75. OHdfeRT STRa € e ueR
3 fr=ferfaa &
(A) HRIER T oy
(B) T & el T Geeqor

(C) RSN i TGt STevIHaret
HlheTd

AT TR qaT HIeIehT

D)
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